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3.1 Metric System

3.1.1 Length
micron (u) (f4°K) =1/1,000,000(k)
centimillimetre(cmm) (Z.K) =1/100,000(K)
decimillimetre(dmm) (£ k) =1/10,000(k)
millimeter(mm) (k) =1/1,000(K)
centimeter(cm) (JE°K) =1/100(K)
decimeter(dm) (43>k) =1/10(k)
meter (m) (k) =1m(K)
decameter(dam) (1K) =10mCK 1) 11i%)
hectometer(hm) (17k) =100mCK 1) F 1%)
kilometer(km) (T-k) =1000m(K 1) T-1%)

3.1.2 Area
square millimeter (°F-J5 2K) =1/1,000,000(°F- /7 k)
square centimeter((F- 7 J>K) =1/10,000(*F- /5 K)
square decimeter(*F- 543 k) =1/100(*F- J5 k)
square meter (°F-77°K) =1(F 7 K)
square decameter (7 75 K) =100(°F- 75 k)
square hectometer(J7 - 75K) =1/100(*F- 15 TK)
square kilometer(*- 77 T-K) =1(°F 5 T2K)
square meter(*F- 75 K) =1 centiare( 1K)
centiare (ca) (T-K) =1/100 are(A i)
are (@) (2 ) =1/100 hectare(/\ Fi)
hectare (ha) (2 L) 100 are(/A )

3.1.3 Volume
cubic millimeter(:7. 77 %K) =1/1,000 (7. J5 J& k)
cubic centimeter(37. /7 Ji k) =1/1,000(3Z. /7 43 k)
cubic decimeter(37. 743 K) =1/1,000(>7. 5 K)
cubic meter(37. /5 k) =137 J7K)
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3.1.4 Capacity

milliliter(ml) (% 71) =1/1,000071)
centiliter(cl) (JE7T) =1/100(7})
deciliter(dl) (5> 1) =1/100J1)
litre (1) (1) =1(71)
decalitre (dal) (-+71) =10(F})
hectoliter (h1) (7 71) =100(71)
kilolitre (kl) (T-71) =1,000(71)
3.1.5 Weight
milligramme (mg) (&) =1/1,0009( %)
centigramme (dg) (& 57.) =1/100g( %)
decigramme (dg) (43 ) =1/10g( )
gramme (g) (%¢) =19 (%0)
decagramme (dag) (%) =10g (¢)
hectogramme (hg) (¥ ) =100g(’7.)
kilogramme (kg) (T-7¢) =1000g( )
quintal (q) (2> 1H) =100kg (T 7)
metric ton (M.T.) , tonne (t) (2 i) =1,000kg(T5¢)

3.2 Chinese System

3.2.1 Length
1 chi(Ti }) =10 cun(li <)
1 zhang (1l 3) =10 chi(Tli )
11i(H) =150 zhang(L)
3.2.2 Are
‘ 1 squareli (*F-J5 H) =375mu(F)
3.2.3 Capacity
1 dou(3}) =10 sheng(71)
1 dan (£7) =10 dou(=})
3.2.4 Weight
1 liang(7%) =10 gian(£k)
1jin(JT) =10 liang(M)
1 dan(3H) =100jin(JT)
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3.3 Anglo-American System

3.3.1 Length
1 mil (% H) =1/1000 in(~))
12 inches(# ) (in.) =1 foot(fl.) (F )
3 feet(JE ) =1yard (yd.) (fi4)
5 1/2 yard(fid) =1rod(rd.) () B pole(p.) Bk porch(p.)
40 rod(FF) =1 furlong(fur.) (/&)
8 furlong(iI}) =1 mile(m.or.mi) (% H)
3 miles(c ) =1 land league (‘£1%)
3.3.2 Chain

144 square inches (sg.in.) (*F- 75 9551)

=1 square foot(sq.ft) (*F- 75 3 )

9 square feet(*- /7 55 )

=1 square yards(sg.yad.) (-5 i)

30 /4 square yards(“I- 7 1i5)

=1square rod(sg.rd.) (V-5 ) EX square
pole &% square porch(sg.p.)

43,560 square feet(*F- /5 % JX) or

=1 acre (A.) (FEHT)

160 square rods(*f- /5 #1) or

4,840 square yards(“¥- J5 fih)

circular mil % /R(EARN 1% H M BEITRL,  FHAE S o Zef 40 1) 5 )

625 square lingks (sq.li.) (CF- 54 =1 square pole(sg.p.) (¥ 5 +F)

16 square poles(*t- J #t) =1 square chain(sg.ch.) (*1- 77%5%)

10 square chains(“V- /5 %) =1 acre(A.) (JEH)

640 arce(JE i) = 1 square mile(sq.mi.) (P77 9 ) 8k 1

section(sec.) (B)

56 square miles(*f- 77 3 H.)

=1 township(tp.) (IX)

3.3.3 Volume

1,728 cubic inches (cu.in.) (377 %))

=1 cubic foot(cu.ft) (37 J7 HL )

27 cubic feet(37.J7 % )

=1 cubic yard (cu.yd.) (37,77 fi)

3.3.4 Nautical Measure

6 feet (YL )

=1 fathom (f. fm.) (3¢3)

100 fathoms(#£ 3-)

=1 cable's length(fi)

10 cable's lengths(i%)

=1 nautical mile(¥#F i)

3 nautical miles(i Hl)

=1 marine league (7K 7 HL#%)

60 nautical miles(ifE )

=1 degree(J¥)
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